RZR XP900 Trailing Arm Guards (LH & RH)
P/N: EMP-11118
Fits: 2011-12 XP900

Includes:

(2) Trailing Arm Guards (LH & RH)
(4) 1/4-20 x 2-1/4” Bolts

(4) 1/4-20 nylon lock nuts

(4) 1/4” x 17 Self Drilling Screws
(1) Logo Sticker

el e

See install video on our website.

WWW.EXTREMEMETALPRODUCTS.COM | s i
OFF-ROAD ACCESSORIES ‘= /_f

Cleveland, Chio

RZR XP900 Trailing Arm Guards (LH & RH)
P/N: EMP-11118
Fits: 2011-12 XP900

Includes:

(2) Trailing Arm Guards (LH & RH)
(4) 1/4-20 x 2-1/4” Bolts

(4) 1/4-20 nylon lock nuts

(4) 1/4” x 17 Self Drilling Screws
(1) Logo Sticker

nhwbhe=

See install video on our website.

WWW.EXTREMEMETALPRODUCTS.COM | s i
OFF-ROAD ACCESSORIES ‘= /_f

Cleveland, Chio

RZR XP900 Trailing Arm Guards (LH & RH)
P/N: EMP-11118
Fits: 2011-12 XP900

Includes:

1. (2) Trailing Arm Guards (LH & RH)
2. (4)1/4-20 x 2-1/4” Bolts

3. (4) 1/4-20 nylon lock nuts

4. (4) 1/4” x 1” Self Drilling Screws

5. (1) Logo Sticker

See install video on our website.

WWW.EXTREMEMETALPRODUCTS.COM | a8

OFF-ROAD ACCESSORIES Ly
Cleveland, Ohie

RZR XP900 Trailing Arm Guards (LH & RH)
P/N: EMP-11118
Fits: 2011-12 XP900

Includes:

1. (2) Trailing Arm Guards (LH & RH)
2. (4)1/4-20 x 2-1/4” Bolts

3. (4) 1/4-20 nylon lock nuts

4. (4)1/4” x 17 Self Drilling Screws

5. (1) Logo Sticker

See install video on our website.

WWW.EXTREMEMETALPRODUCTS.COM | a8

OFF-ROAD ACCESSORIES Ly
Cleveland, Ohio



